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Chapter 3              
Solved Problems

Problem 1
>> x=-2:4
x =
    -2    -1     0     1     2     3     4
>> y=x.^3-2*x.^2+x
y =
   -18    -4     0     0     2    12    36

Problem 2
>> x=-3:3
x =
    -3    -2    -1     0     1     2     3
>> y=(x.^2-2)./(x+4)
y =
    7.0000    1.0000   -0.3333   -0.5000   -0.2000    0.3333    
1.0000

Problem 3
>> x=1:7
x =
     1     2     3     4     5     6     7
>> y=(x-3).*(x.^2+3)./x.^2
y =
   -8.0000   -1.7500         0    1.1875    2.2400    3.2500    
4.2449
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Problem 4

>> t=0:8
t =
     0     1     2     3     4     5     6     7     8
>> y=20*t.^(2/3)./(t+1)-(t+1).^2./exp(0.3*t+5)+2./
(t+1)
y =
    1.9933   10.9800   11.2161   10.8566   10.4286
10.0259    9.6652    9.3455    9.0616

Problem 5

Script file

h=2; g=9.81;

v=sqrt(2*g*h);

n=1:8;

t=v/g*0.85.^n;
Table=[n' t']

Command Window

Table =
    1.0000    0.5428
    2.0000    0.4614
    3.0000    0.3922
    4.0000    0.3333
    5.0000    0.2833
    6.0000    0.2408
    7.0000    0.2047
    8.0000    0.1740
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Problem 6

Script file:
g=9.81; 

r=0.002;

roal=2700; rog=1260;

V=4*pi*r^3/3;

k=0.0018;

con=sqrt(V*(roal-rog)*g/k);

t=0:0.05:0.35;
v=con*tanh(t*sqrt(V*(roal-rog)*g*k)/(V*roal))

Command Window:

v =
         0    0.2410    0.3949    0.4669    0.4958    0.5066    
0.5106    0.5120

Problem 7

Script file:

V=120; R=120; L=0.1;

If=V/R;

t99=-L/R*log(1-R*0.99*If/V)

t=linspace(0,t99,10)
i=V/R*(1-exp(-R/L*t))

Command Window:

t99 =
    0.0038
t =
         0    0.0004    0.0009    0.0013    0.0017
0.0021    0.0026    0.0030    0.0034    0.0038
i =
         0    0.4005    0.6406    0.7846    0.8708
0.9226    0.9536    0.9722    0.9833    0.9900 
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Problem 8

8.a
>> ua=[23.5 -17 6];
>> uMa=sqrt(ua(1)^2+ua(2)^2+ua(3)^2)
uMa =
   29.618

8.b
>> ub=[23.5 -17 6];
>> uMb=sqrt(sum(ua.^2))
uMb =
   29.618

Problem 9
>> u=[-8 -14 25];
>> un=u./sqrt(sum(u.^2))
un =
   -0.2689   -0.4706    0.8404

Problem 10

>> v=[3 -2 4];
>> u=[5 3 -1];
>> v.*u
ans =
    15    -6    -4
>> v*u'
ans =
     5
>> v'*u
ans =
    15     9    -3
   -10    -6     2
    20    12    -4
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Problem 11
>> va=[6.5 -5 -4];
>> ua=[-3 8 -2];
>> dotuva=sum(u.*v)
dotuva =
  -51.5000
>> ub=[-3 8 -2];
>> vb=[6.5; -5; -4];
>> ub*vb
ans =
  -51.5000
>> vc=[6.5 -5 -4];
>> uc=[-3 8 -2];
>> dotuvc=dot(vc,uc)
dotuvc =
  -51.5000

Problem 12

>> v=2:2:10
v =
     2     4     6     8    10
>> a=1./v
a =
    0.5000    0.2500    0.1667    0.1250    0.1000
>> b=1./v.^2
b =
    0.2500    0.0625    0.0278    0.0156    0.0100
>> c=v/2
c =
     1     2     3     4     5
>> d=v./v
d =
     1     1     1     1     1
>> 
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Problem 13

>> v=5:-1:1
v =
     5     4     3     2     1
>> a=v.^2
a =
    25    16     9     4     1
>> b=v.^v
b =
        3125         256          27           4           
1
>> c=v*5
c =
    25    20    15    10     5
>> d=v-1
d =
     4     3     2     1     0 

Problem 14

Script file:
clear, clc

x=1:2:9;

y=2:3:14;

disp('Part a')

za=x.*y.^2./(x+y)

disp('Part b')
zb=x.*(x.^2-y)-(x-y).^2

Command Window:

Part a
za =
    1.3333    9.3750   24.6154   47.0556   76.6957
Part b
zb =
    -2     8    76   250   578
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Problem 15

Script file:
clear, clc

p=2.3; w=5.67;

t=1:5;

x=2.8:-0.3:1.6;

y=4:3:17;

disp('Part a')

T=p*(x+y).^2*w./y

disp('Part b')
S=p*(x+y).^2./(w*y)+w*x.*t./(p*y)

Command Window:

Part a
T =
  150.7540  168.1357  194.1022  222.7102  252.4738
Part b
S =
    6.4149    6.9908    7.6646    8.3687    9.0859

Problem 16

Script file:

clear, clc

A=[2 0 0]; B=[10 3 0]; C=[4 6 0];

rAB=B-A

rAC=C-A

cross(rAB,rAC);
Area=sqrt(sum(cross(rAB,rAC).^2))

Command Window

rAB =
     8     3     0
rAC =
     2     6     0
Area =
    42
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Problem 17
Script file

clear, clc

u=[-2 6 5];

v=[5 -1 3];

w=[4 7 -2];

LHS=cross(u,cross(v,w))
RHS=v*dot(u,w)-w*dot(u,v)

Command Window:

LHS =
   124   -17    70
RHS =
   124   -17    70

Problem 18
Script file:

clear, clc

r1=[3 -2 1];

r2=[1 2 -4];

Lr1=sqrt(dot(r1,r1));

Lr2=sqrt(dot(r2,r2));
th=acosd(dot(r1,r2)/(Lr1*Lr2))

Command Window:

th =
  106.9541
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Problem 19

Script file:

clear,clc

g=9.81;  q=70; v0=162;

t=1:5:31;

x=v0*cosd(q)*t;

y=v0*sind(q)*t-g*t.^2/2;

r=sqrt(x.^2+y.^2)
th=atand(y./x)

Command Window:

r =
  1.0e+003 *
    0.1574    0.8083    1.2410    1.4759    1.5564
1.5773    1.7176
th =
   69.3893   65.7152   60.5858   53.0831   41.6187
24.0270    0.1812
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Problem 20

Script file:
clear, clc

format short g

g=9.81;

vA=560; thA=43;

vB=680; thB=50;

tA=2*vA*sind(thA)/g;

tB=2*vB*sind(thB)/g;

tf=tA;

t=linspace(0,tf,11);

xA=vA*cosd(thA)*t;

yA=vA*sind(thA)*t-0.5*g*t.^2;

xB=vB*cosd(thB)*t;

yB=vB*sind(thB)*t-0.5*g*t.^2;

rABx=xB-xA;

rABy=yB-yA;

Table=[t' rABx' rABy'];
disp(Table)

Command Window:

            0            0            0
       7.7863       214.42       1082.2
       15.573       428.83       2164.5
       23.359       643.25       3246.7
       31.145       857.66       4328.9
       38.932       1072.1       5411.1
       46.718       1286.5       6493.4
       54.504       1500.9       7575.6
       62.291       1715.3       8657.8
       70.077       1929.7       9740.1
       77.863       2144.2        10822
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Problem 21

Script file:
clear,clc

format long

x=[1.5 1 0.5 0.1 0.01 0.001 0.00001];
y=sin(x)./x

Command Window:
y =
   0.664996657736036   0.841470984807897   0.958851077208406   
0.998334166468282   0.999983333416666   0.999999833333342   
0.999999999983333

Problem 22

Script file:
clear, clc

format long

x=[5 3 2 1.5 1.1 1.001 1.00001];
y=(x.^2-1)./(x-1)

Command Window:

y =
   6.000000000000000   4.000000000000000
3.000000000000000   2.500000000000000
2.100000000000000   2.000999999999918
2.000010000000827
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Problem 23

Script file:
clear,clc

na = 1:10;

ya = 1./2.^na;

disp('Part a')

Sa = sum(ya)

aPercentError=abs(1-Sa)*100

nb = 1:20;

yb = 1./2.^nb;

disp('Part b')

Sb = sum(yb)

bPercentError=abs(1-Sb)*100

nc = 1:30;

yc = 1./2.^nc;

disp('Part c')

Sc = sum(yc)

cPercentError=abs(1-Sc)*100

nd = 1:40;

yd = 1./2.^nb;

disp('Part d')

Sd = sum(yd)
dPercentError=abs(1-Sc)*100

Command Window:

Part a
Sa =
   0.999023437500000
aPercentError =
   0.097656250000000
Part b
Sb =
   0.999999046325684
bPercentError =
    9.536743164062500e-005
Part c
Sc =
   0.999999999068677
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cPercentError =
    9.313225746154785e-008
Part d
Sd =
   0.999999046325684
dPercentError =
    9.313225746154785e-008

Problem 24

Script file:
clear,clc

na = 0:10;

ya = (-3).^(-na)./(2*na+1);

disp('Part a')

Sa = sqrt(12)*sum(ya)

aPercentError=abs((pi-Sa)/pi)*100

nb = 0:20;

yb = (-3).^(-nb)./(2*nb+1);

disp('Part b')

Sb = sqrt(12)*sum(yb)

bPercentError=abs((pi-Sb)/pi)*100

nc = 0:30;

yc = (-3).^(-nc)./(2*nc+1);

disp('Part c')

Sc = sqrt(12)*sum(yc)
cPercentError=abs((pi-Sc)/pi)*100

Command Window:

Part a
Sa =
   3.141593304503081
aPercentError =
    2.071921346691696e-005
Part b
Sb =
   3.141592653595635
bPercentError =
    1.859564303762336e-010
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Part c
Sc =
   3.141592653589794
cPercentError =
    2.827159716856460e-014
>> 

Problem 25

Script file:
clear,clc

clear,clc

Lmax=58; K=0.45; tau=0.65;

t=0:5;
L=Lmax*(1-exp(-K*(t+tau)))

Command Window:

L =
   14.7091   30.3965   40.3992   46.7772   50.8441
53.4372 

Problem 26

Script file:
clear, clc

th=75; v=110; g=9.81;

a=g/(2*v^2*(cosd(th))^2);

b=-tand(th);

c=200;

d=sqrt(b^2-4*a*c);

x1=(-b+d)/(2*a);

x2=(-b-d)/(2*a);

xp=linspace(0,x1,100);

y=tand(th).*xp-g/(2*v^2*(cosd(th))^2)*xp.^2;

plot(xp,y)

[hm, xm]=max(y);

hmax=hm
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xhmax=xp(xm)

Command Window:

hmax =
  575.3948
xhmax =
  309.6821 

Problem 27

>> A=[2 4 -1; 3 1 -5; 0 1 4];
>> B=[-2 5 0; -3 2 7; -1 6 9];
>> C=[0 3 5; 2 1 0; 4 6 -3];

27a
>> A+B
ans =
     0     9    -1
     0     3     2
    -1     7    13
>> B+A
ans =
     0     9    -1
     0     3     2
    -1     7    13

27.b
>> A+(B+C)
ans =
     0    12     4
     2     4     2
     3    13    10
>> (A+B)+C
ans =
     0    12     4
     2     4     2
     3    13    10

27.c
>> 5*(A+C)
ans =
    10    35    20
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    25    10   -25
    20    35     5
>> 5*A+5*C
ans =
    10    35    20
    25    10   -25
    20    35     5

27.d
>> A*(B+C)
ans =
   -11    16    32
   -22   -33    -8
    11    51    31
>> A*B+A*C
ans =
   -11    16    32
   -22   -33    -8
    11    51    31

Problem 28
>> A=[2 4 -1; 3 1 -5; 0 1 4];
>> B=[-2 5 0; -3 2 7; -1 6 9];
>> C=[0 3 5; 2 1 0; 4 6 -3];

28.a
>> A*B
ans =
   -15    12    19
    -4   -13   -38
    -7    26    43
>> B*A
ans =
    11    -3   -23
     0    -3    21
    16    11     7

Answer: No, A*B does not equal B*A

28.b
>> A*(B*C)
ans =
   100    81  -132
  -178  -253    94
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   224   263  -164
>> (A*B)*C
ans =
   100    81  -132
  -178  -253    94
   224   263  -164

Answer: Yes, A*(B*C) does equal (A*B)*C

28.c

>> (A*B)'
ans =
   -15    -4    -7
    12   -13    26
    19   -38    43
>> B'*A'
ans =
   -15    -4    -7
    12   -13    26
    19   -38    43

Answer: Yes, (A*B)t does equal Bt*At

28.d
>> (A+B)'
ans =
     0     0    -1
     9     3     7
    -1     2    13
>> A'+B'
ans =
     0     0    -1
     9     3     7
    -1     2    13

Answer: Yes, (A+B)t does equal At+Bt
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Problem 29

>> A=randi(10,4)
A =
     9     7    10    10
    10     1    10     5
     2     3     2     9
    10     6    10     2

29.a
>> A*A
ans =
   271   160   280   235
   170   131   180   205
   142    77   144    71
   190   118   200   224

Matrix multiplication.

29.b
>> A.*A
ans =
    81    49   100   100
   100     1   100    25
     4     9     4    81
   100    36   100     4

Each of element in A is squared. 

29.c

>> A\A
ans =
    1.0000         0         0         0
         0    1.0000         0         0
         0         0    1.0000         0
         0         0    0.0000    1.0000

Solution for I of A*I=A 

29.d
>> A.\A
ans =
     1     1     1     1
     1     1     1     1
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     1     1     1     1
     1     1     1     1

Each element of A is divided by itself.

29.e

>> det(A)
ans =
  -484

Determinant of A.

29.f

>> inv(A)
ans =
   -1.0000    0.1198    0.8884    0.7025
    0.0000   -0.1777    0.0620    0.1653
    1.0000   -0.0207   -0.9463   -0.6901
    0.0000    0.0372    0.1033   -0.0579

Inverse of A.

Problem 30

Script file:
u=0:.05:1;

k=.25;

p=k*u.*(1-u)./(k+u);

pmax05 = max(p)

u=0:.01:1;

p=k*u.*(1-u)./(k+u);

pmax01 = max(p)
E = abs((pmax01-pmax05)/pmax01)*100

Command Window:
>> format long
pmax05 =
   0.095454545454545
pmax01 =
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   0.095491071428571
E =
   0.038250669386692

Problem 31

>> A=[3 -2 5; -4.5 2 3; 5 1 -2.5];
>> C=[7.5;5.5;4.5];
>> x=A\C
x =
    1.2692
    2.8113
    1.8630

Problem 32

>> A=[3 1.5 1 0.5 4; -2 1 4 -3.5 2; 6 -3 2 2.5 1; 1 4 -
3 0.5 -2; 3 2 -1 1.5 -3];
>> C=[-11.75; 19; -23; -1.5; -3.5];
>> x=A\C
x =
   -4.0000
    2.5000
    4.0000
    1.0000
   -2.0000
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Problem 33

x  Gallons oforange blend
y  Gallons of pineapple blend
z  Gallons of mango blend

Command window:

>> A=0.25*[3 1 0.5; 0.75 2.5 0.5; 0.25 0.5 3];
>> C=[7600; 4900; 3500];
>> x=A\C
x =
  1.0e+003 *
    8.0000
    4.8000
    3.2000

8000 Gallons oforange blend
4800 Gallons of pineapple blend
3200 Gallons of mango blend

3 0.25x⋅ 0.25y 0.5 0.25z⋅+ + 7600=

0.75 0.25x⋅ 2.5 0.25y⋅ 0.5 0.25z⋅+ + 4900=

0.25 0.25x⋅ 0.5 0.25y⋅ 3 0.25z⋅+ + 3500=
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Problem 34

Script file:
clear, clc

V1=12; V2=24;

R1=20; R2=12; R3=8; R4=6;

R5=10;

A=[-(R1+R2) R1 R2 0 

R1 -(R1+R3) 0 0

R2 0 -(R2+R4) R4

0 0 R4 -(R4+R5)]

B=[V1; V2; -V2; 0]

I=A\B

% A table with the value of the current in each resistor

RI=[1 abs(I(1)-I(2))

    2 abs(I(1)-I(3))

    3 abs(I(2))

    4 abs(I(3)-I(4))

    5 abs(I(4))]

Command Window:

A =
   -32    20    12     0
    20   -28     0     0
    12     0   -18     6
     0     0     6   -16
B =
    12
    24
   -24
     0
I =
   -1.2667
   -1.7619
    0.5587
    0.2095
RI =
    1.0000    0.4952
    2.0000    1.8254
    3.0000    1.7619

+ _

+
_

R1 R2

R3

R5

R4

V1

V2
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    4.0000    0.3492
    5.0000    0.2095
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Problem 35

Script file:
V1=18; V2=30; V3=18;

R1=10; R2=20; R3=8; R4=16;

R5=14; R6=24; R7=20; R8=12;

A=[(R1+R2) 0 -R2 0 0 0 

0 R3 0 -R3 0 0

-R2 0 (R2+R4) 0 0 0

0 -R3 0 (R3+R5+R7) -R5 -R7

0 0 0 -R5 (R5+R6) 0

0 0 0 -R7 0 (R7+R8)]

B=[0; -V1; -V2; V2; V3; -V3]

I=A\B

% A table with the value of the current in each resistor

RI=[1 abs(I(1))

    2 abs(I(1)-I(3))

    3 abs(I(2)-I(4))

    4 abs(I(3))

    5 abs(I(4)-I(5))

    6 abs(I(5))

    7 abs(I(4)-I(6))

    8 abs(I(6))]

Command Window:

A =
    30     0   -20     0     0     0
     0     8     0    -8     0     0
   -20     0    36     0     0     0
     0    -8     0    42   -14   -20
     0     0     0   -14    38     0
     0     0     0   -20     0    32
B =
     0
   -18
   -30
    30
    18
   -18

+ _

+
_

R1

R2 R3

R5R4

V1

V2

+ _

V3

R6

R7

R8
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I =
   -0.8824
   -1.7983
   -1.3235
    0.4517
    0.6401
   -0.2802
RI =
    1.0000    0.8824
    2.0000    0.4412
    3.0000    2.2500
    4.0000    1.3235
    5.0000    0.1884
    6.0000    0.6401
    7.0000    0.7319
    8.0000    0.2802



26 Chapter 3: Solved Problems



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Gray Gamma 2.2)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Off
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails true
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams true
  /MaxSubsetPct 100
  /Optimize false
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Remove
  /UCRandBGInfo /Preserve
  /UsePrologue true
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages false
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth 8
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /FlateEncode
  /AutoFilterColorImages false
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /ColorImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages false
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth 8
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /FlateEncode
  /AutoFilterGrayImages false
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /GrayImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages false
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e55464e1a65876863768467e5770b548c62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc666e901a554652d965874ef6768467e5770b548c52175370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA (Utilizzare queste impostazioni per creare documenti Adobe PDF adatti per visualizzare e stampare documenti aziendali in modo affidabile. I documenti PDF creati possono essere aperti con Acrobat e Adobe Reader 5.0 e versioni successive.)
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020be44c988b2c8c2a40020bb38c11cb97c0020c548c815c801c73cb85c0020bcf4ace00020c778c1c4d558b2940020b3700020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken waarmee zakelijke documenten betrouwbaar kunnen worden weergegeven en afgedrukt. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents suitable for reliable viewing and printing of business documents.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


